[ ] /| “"_ == = [ ] 2 D
1 b =TiE 1|1 o0
2 FPYTESI AT — ¥ X = 64.0 >l I
3 NJi—-F7—5— |SHEKXK| 588 | 3 | 3
4 MVE=PRo—=)l | KEZE 52.1 4 | 5 11
5 | 1 [JUE=F #NEE | 506 | 6 | 9 3
6 [ tuTnre SRME | 469 | 7 | 4 2
7 TURIS2Y AZBiZE | 458 | 5 | 8 4
8 | 5 |74—IKF3> |KIR&E | 453 | 8 | 6 8
9 [WPNFASTFHL R 43.5 |10/ 11 5
L 29—Jo-U— |RHWMA | 43.0 | 9 | 7 10
N AV REEE | 417 |12 12 12
12 | 6 |3ZX=vra-N 383 | 11|10 7
=&
8 1-7-8 ¥9,990
7-8 8-7-1 ¥22,420




[ ] /| : - —_— » 2 D .
1 AY5JI0— AR &) i 8
2 FPUY BHBA | 650 | 2 | 5 2
3 F59)_—FI =g 59.8 3| 2 3
4 F1IvhbhS5— ARZBiZ 51.8 4 | 4 5
5 BENI59VEF—T | AMEBIE | 473 | 6 | 8 6
6 P —h XE&Ea | 47.3 | 7 | 11 10
7 | 5 |FUSSFPF47E |ERABE | 46.9 8 | 3 1
8 U2 27 Rl o ALLE— 9| 9 9
9 | 6 |IM>1LT7>Y |EKIEE 10| 7 4
W—231hXU7 | hIEEFILE 5| 6 7
ALA-LIF— |RISELE 12 | 12 12
vl 12 DEba NI | | 11| 10 11
5 ¥640 2-5-8 ¥2,850
5-8 ¥2,380 5-8-2 ¥20,070




1 | L FAIAI-N | RuLE— i 2
2 AXY3—1E)—- | =ETE 60.6 | 2 | 2 3
3 DL A(Y397y39 (BAMEE | 55.2 | 3 | 4 4
4 IR hiOv FiiE 53.7 5| 3 5
5 IR XKHEZE | 53.3 | 4| 5 8
6 1Y$15— MNEs | 499 | 6 | 9 10
7 FrYFrY3 MFEE— | 45.6 | 9 | 10 11
8 [N A5 YRR SHEA | 45.2 | 8 7
Y : [ECE W | 45.1 | 7 1
10 Y ) )2yF— AZHE | 11 9
11 NgYEIZ |2RmE | 8 6
=&
3 ¥3,240 [EEL: 2-3-11 ¥2,910
3-11 ¥3,220 ELL: 3112 ¥61,360




|

E 42 g T SBig®H E Eliﬁ 7

=VYEEIIN FifiiE 1 |1 1
—R>EDTA hEEER — 2 | 2 2

THUY) FEsn | 55.3 | 3 | 4 4
JURNT4 FLE— | 53.8 | 4| 3 3

| 6 |PA9-TAEIL [AMEE | 516 |5 |5 6
YL39ATNGRY EBHENT | 47.2 | 6 | 6 <

S HTUFINY ALEFBSLE 46.5 8 | 7 7

P LFRyIR74 |ETE | 453 | 7 | 8 8
N sanroy—5  mnme | 432 |10 9 ht
J—2 KIS | 43.1 | 9 | 10 10

A—T - bR 39.5 | 12|12 9

12 J-IRIN—X | RFHIX — 11 | 11 11

=&

11 ¥210 QEE:LE 1-8-11 ¥520

1-11 ¥430 et 11-1-8 ¥2,660




PR MR KIS 130 4

12 B0 =FE | 657 | 2 |1 1
I{S55F— |BAES | 580 | 3 | 2 3

JUVRE> 2HE | 547 | 4 | 4 9

11 D= KMHEE | 508 | 5| 5 2
EF—7 BEks | 47.6 | 6 | 6 8
55 h—) EB— | 43.2 | 9 |12 11
P—¥b5AA  |[FULE— | 429 |12|10 10

IPL) | T pu b KIFEGH 42.9 10

10 | 6 |AXMF—RY  |NEFWE | 42.6 7
HEHEMNT 42.6 11 12

— ; 5

thi=®

12 3318 b-11-12 ¥1,070

11-12 33EE 12-11-5 ¥5,460




1 945K -= |SHEKXK | 605 | 1 |1 1
72 IR C>1UC>TY HEsh&t | 57.5 3| 3 2
3 B4A—-h—_)VV |hNERE8— | 54.2 | 2 | 2 4
4 |0 1¥759- XM= | 446 | 4 | 4 5
5 EANITPU— AzZpizE | 42,2 6 | 5 6
6 | 1 |7VAOF71— R&AX | 411 | 5 | 6 3
=

1-3-5 ¥1,670

==F: 3 ¥150

EiE 3= ¥350 3-5-1 ¥3,660




[ ] / . = » el
1 LAPUSF DRRES — 2 | 3 3
2 T4 —4 i 1| 2 7
3 =—ZAM- = NI 504 | 4 | 1 2
4 | 77/ D 4 AE— 56.5 3| 4 6
5 LYW D=2 SHEKX | 521 | 7 | 8 4
6 130J)IY3I) (REFBSEE | 46,5 | 8 | 6 12
7 I oU—F ERHEE | 447 | 6 | 7 8
8 Li—= AR | 441 | 5 | 5
o [FENTN-nzs— |#iawE | 432 | o |11 10
10 [ J5v%1—7 MNEE | 43.1 | 11|12 9
11 O—-Y+7-0 XHEESE | 42.2 (10| 9 11
12 [0 AISUT'S RESX — 12 | 10 5
=&
¥720 QLT 9-10-12 ¥1,470
¥050 [t 12-10-9 ¥7,690




1 2y¥O—X NEFISIE g | i 8
2 | 5 [FAPIA-INYY (EEXIES 60.4 2 | 3 1
3 4YIA—IVh  |WLEShE | 56.2 | 3 | 4 4
4 | 6 |IVNRA =2) = p) G 51.6 4 | 2 2
s oo [sHEX | s00 [6 |5 3
6 | PHNARINFSTAT | HIR 47.8 | 5 | 7 6
7 AXETIIVA KIS 46.3 8 |10 11
8 AN M&H | 454 | 7 | 6 10
9 AN—Ph7PUAY XHESE | 44.8 | 10 11 12
10 8 SIATNITUYS |hIEEs— | 44.1 | 9 | 12 7
11| o 32BN - |REEA 11
12 e 945-KT [fuLE— | 12 9
=&
5 ¥400 ET 3-5-6 ¥1,960
: 5:6 ¥640 [E: 5-6-3 ¥8,240




1 b U7 bt SN 110 2
2 P SYDVAND-X  |hiEEER— | 54.4 | 3 | 3 1
il 8 (L) SHEX | 542 | 2 | 2 4
4 hES> NEFREE | 52.3 | 4 | 5 6
5 EPAIAESSNA hIEEFIGE | 44.6 | 5 | 4 8
6 | LL|PEUPYIL  |ZAME | 436 | 7 | 7 7
7 | 5 [NE-74-L |#IIEE | 43.5 6 | 6 3
8 | 1 [¥9h5F9/>F |WAES [ 393 | 8 | 8 5
i
6 ¥390 3-5-6 ¥2,390
3-6 ¥290 6-3-5 ¥9,750




2ANM=F(— |Km=E | 6LZ | 2 | 4 10
T4SYAU5  |2Am@ | 581 | 3 | 1 1
SN AZRNIZ—LY  |AfEshE | 584 | 1 | 7 8
M osxut-n  |mEm— | 555 | 5 | 2 6
SN TN-UDF—8) AEBE | 53.0 | 4 | 3 2
'. 4 POV EER 489 | 8 | 6 7
L oaoYt-n-  |mnms | 477 | 7 | 8 4
Pl <5104 |[sHEx | 460 | 9| o 9
u—l*#?“-wlﬂ'j MLE— | 417 | 6 | 5 3
10 IO FATAA—KU— | DOREFIGE 5
SAFAIPR AESEE | 11

5 ¥350 ¥2,470

5-6 ¥850 ¥8,040




%F% | BBISH ok | 71

ﬁ

1| 6 [T4AL—Y AZpZE Ty 2
2 TN—=>DR i 614 | 2 | 2 3
3 OYINIIATA |KMEZE | 56.7 | 3 | 4 7
4 B>3974470 | ETE 49.6 6 | 5 4
5 J1UT> NEFRSEE | 495 | 5| 6 ;
6 K—SI>b RESIA | 482 | 4 | 3 1
7 MNFEAYTUIER |EEAEE | 474 | 8 | 8 11
8 | 5 |Ew7avy KHEME | 46.2 | 10| 9 9
9 AN AT SHEX | 458 | 7 |10 12
10| 1 [NFF5A14—b fINEEe | 45.7 | 11| 11
11 EIV VAL hnEEFIME | 39.7 | 12| 12
12 Pl iUz WALS | 887 | o | 7 10
A=
B 11 ¥460 3-6-11 ¥800
EiE 6-11 ¥490 11-6-3 ¥5,530




[ ] *"_ == = 3 D
bTH RKR&ET 1| 8 7
L~ b AR | 57.1 2 | 6 2
SPN Zh—LYM\=— |KMEME | 545 | 3 | 2 6
L p-b-Fyvay (KMmE | 532 | 7 | 9 9
aids v ar k| AzpiZ | 52.0 6 | 5 8
:r“a-j;#;dx E— | 519 | 5 |10 3
DIVAR>OD-) | NEFRSIE 50.1 4 | 4 5
AB—2nC Fif 47.0 9 4
CELALIIN-2 |=TE | 445 | 8 | 3 11
10 J4>JIU—-F1 |hNEEER— | 44.1 | 11| 11 1
sHEx | 425 | 10| 12 12
=2y = ) 41.9 | 7 10
¥3,980 5-9-10 ¥137,310
¥22,450 10-9-5 ¥594,090




